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Algebra 1 Semester 1

Assessment Training Practice #1A

1) IFf(x) = 2x + 2 thenﬂndf()
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2)  Ifg(x)=-x* + 5x then fmdg 12).
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3.) Evaluate |-x — 2y|forx = -2andy = 3.
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4.) Given the following relation, what is the domain and range?
{(-2,4), (-2,0), (6,5), (0,-2)} .
Domain: ZC 57 (/ L/ ?
Range: f 0</', O \;';,, &5" T
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Make a mapping diagram that represents the relation and determine whether the relation is

{(-3,-6), (-1,-6), (5,-6), (8, -6) }

a function.
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Find the domain and range of the relation. Is the relation a function? Explain.

Number of Identical | Regular Cost
Notebooks of Notebooks
(No Discounts)
7 5563
2 1.58
5 3.95
3 237
Domain: {& (3 J '] :i
il ') -~ o~ 0 == —
Range: f;’.@é‘,o{.d/)(ﬁ O u(jL)
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Is the relation a function? Explain [E4S b CCLLLSE, ff‘ﬁ cath
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The graph represents how much soot is produced by a certain factory beginning at 8 am.
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List the points: (O, o?) (33}’ (k/g; éj}) (?v / )

a.)

b.)

>

Rate of Soot Production (kg/hr)

Rate of Soot e - S -
Production in kg =~ @it
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Hours Past 8:00 am
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Given the function, T(s) = — %s + 4% , Wwhere T is the time it takes to decorate the gym for a

dance and s is the number of students on the decorating committee, answer the following:

a.) What is a reasonable domain for this function?

b.) Find T(12) £
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10.) Determine if the relation is a function. State the domain and range of each graph.

Is the relation a function? Explain
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Is the relation a function? Explain
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Ja\ Is the relation a function? Explain
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11.)

b.)
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Jenna works at a retail shop. She makes a flat rate of $10 per day at work, plus $3 for each

item she sells.

A Jenna's Sales
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v Number of Items Sold by Jenna

Explain why the graph represents this function.
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Write an equation for this graph.
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Decide whether the following are rational or irrational.

2T Rational or @
3v4 Rational ) or Irrational

V5 Rational or Irrational )

. 3? Rationgl\; or Irrational
@fy or Irrational
(V7)? Rational ) or Irrational
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